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Instructions to the Candidates

1. Th1s Question-booklet is printed in English & Hindi languages. Candidates should select any
one of the two versions according to their convenience.

2. The question paper contains 100 questions. The examinee should verify that the requisite number
of questions are printed in the question paper, otherwise he should ask for another question
paper.

3. All questions are compulsory.

4. All questions carry equal marks.

5. The cover page indicates the number of pages in the question paper. The examinee should
verify that the requisite number of pages are attached in the question paper, otherwise he should
ask for another question paper.

6. Read carefully the instructions given on the answer sheet supplied and indicate your answers
accordingly.

7. Kindly make necessary entries on the answer sheet only at the places indicated and nowhere
else.

8. Examinees should do all rough work on the space meant for rough work on the pages given at
the end of the question paper and nowhere else, not even on the answer sheet.

9. If there is any sort of mistake either of printing or of factual nature in any question, then out of

the Hindi and English versions of the question, the English version will be treated as standard.
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1. The«daily wage of a person is
increased by -15%..The. person now
gets ¥ 230 per day. What was his
daily wage before the increase ?

(A) T202 (B) ¥210
(C) ¥212 . (D) 2200
R

2. A batsman had scored a total of 750
runs before the last test match of the
season. In his last two innings of the
match he scores only 6 runs, and his
average drops by 2 runs. His ﬁna'l
average of the season, is :
{A) 30runs
(B) 25 runs
(C) 28 runs ‘

(D) None of the above

3. A man travels 1/4"™ part by scooter,
3_[8“‘ by car and the rest 48 kms by
bus of the total travel. The total
distance covered by himis - - '
(A) 148 kms (B);:168 kms
(C) 127 kms (D) 128 kms

4.  Which one of the following fractions
is less than 1/3 ? PR

22 4
(A) 63 (B). 1 1
15 33
© %6 D) g
v : P i SR S Y |

5.  The value of L
2 5§ v v ¥
3-:—0.750f6 2 e
2 5 3% I
3+ 0.75 x 6

46 13
A) 75 B) 75
_ 2
26
© 75 (DD} .None of these
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6.

140
120 %

100 4
|~ 80

(C) 35

the percentage

888 8%

A bag contains' one rupees, fifty
paise, twenty five paise and ten paise
coins in proportion 1 : 3: 5 : 7. If the

' total amount in the bag is ¥ 22.25, the

number of fifty paise cotns, is
(A) 15 (B) 25 -
™5

- If 4 men can' reap 40 acres in 30

days, then how _many acres 18 men
will reap in 12 dgys ?.

(A) 72 acres (B) 120 acres
(C) 160 acres (D) 20 acres

The cost price of 25 articles is equal
to the selling price of 20 articles. The
gain percentage, is

(A) 20%

(B) 25%

{C) No loss, no gain

(D) None of the above

In the bar diagram given below is

data pertaining to the production of
cycles in each year by a company.
After studying the diagram find out
drgp in  cycle
production between the years 2011
and 20} 2.

120
110 —

50

|

2007 2008 2009 2040 2011 2012

(A) 20% ®) 30%
©) 15% (D) 25%
- P/A/I2013
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Directions (Q. Nos. 10-12) : Production of
fertilizers by six major companies of India
during the year 2012 for the months of
April to August are given in the following
table. Study the table carefully and answer
the questions (10-12) given thereafter :

Production in Lac tonnes
Company. , .

, I | glmiv|viwv
Aprit |310 | 180-] 169 { 137 | 140 | 120
May {318 179|177 | 162 | 140 | 122
June 320 ] 160 | 188 |.173 {135 | 130
July | 326|167 | 187 | 180 | 146 | 130
August | 327.| 150 | 185 | 178 | 145 | 128

Month

10. In which company, there a
continuous increase in production
over the months ? '

R

A1 :
(B) 1II
(C) I
D Iv

11. - In the month of June, how many
companies have a share of more than
25% of the total production of
fertilizers of that company ?

(A) Two
(B) Three
(C) None
(D) Data inadequate

12. In which month does company No. II
have a contribution of approximately
15% in the total fertilizer production ?

(A) None

(B) May

(C) June

(D) April
SET-D

Directions : Study the pie chart given
below and answer the Question Nos. 13, 14

& 15.

A — Printing Cost
0 B - Cost of Paper
C — Miscellanebus
’1 8% yeIo%)
18%
: % F — Binder’s Charges
E

13.

14.

15.

D — Royalty -
E — Advertisement Charges

If the miscellaneous charges are
¥ 6,000, the advertisement charges are

(A) 9,000
(B) ¥ 27,000
(C) 21,333.33
®) % 15,000

If the cost of printing is T 17,500,
then the royalty is

(A) 7,500

(B) ¥ 15,000
(© ¥3,500
(D) T 750

If the total sale from. the book is
T 97,500 including 30% profit on

production cost, then the royalty is

(A) 6,500
(B) ¥ 14,625
(Cy T11,250
(D) None of these
P/A/TI/2013
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Directions ((Q. Nos. 16-20) : Read the
following excerpt and answer questioﬁs
asked at the end. The answer to the
questions should be based on the excerpt.

The true source of rights is duty. If we all

discharge our duties, rights will not be far

to seek. If leaving duties unperformed we
1

run after rights, they will escape is like a

‘will-0’-the-wisp’. The more we pursue

them, the farther they ﬂy_;P'

To me political power is not an end

but one of the means of enabling people to
better their condition in every department
of hfe Political power means capac1ty to
regulate national life through national
representaﬁves. If national life becomes so
perfect as to become éelf-reg.ulategl_,i 1o
representation becomes necessary, there is
then a state of enlightened anarchy. In such
a state everyone is “his own fule_g. He rules
himself in such a manner that he is never a
hindrance to his neighbour. Thoreau states :
“that government is best which governs the
least™.y

16. Which of the following statements is
lrue in the context of the above
excerpt ?

(A) Enhghtened anarchy is very
common. .

(B) Self-regulation leads to
enlightened anarchy.

© Self-regulation means  self-
representation.

(D) National life becomes perfect
when there is no self-regulation,

SET-D

17. What is the meaning of Thoreau’s

statement ?

(A) The path of true governance
leads to no governance.

(B) Less governance leads to better
governance.

(C) No governance means best
governance.

(D) None of the above.

18. Which of the following inferences can

be drawn from the above excerpt ?

(A) Duties follow rights. )

(B) Duties ~ unperformed  means
rights well performed.

(C) Duties well performed means
rights well performed.

(D) None of the above.

19, With reference to the above excemt,
which of the following statements is

correct 7

(A) Political power is about personal
life. )

(B) Political power is about the
general good of the people.

(C) Social conditions determine
political power.

(D) Political power 1s related to
ends}.,,

20. Which of the following inference can
be drawn from the above excerpt ?
(A) National - life is regulated
through national representatives.
(B) Political power is ngen to
national life.

{(C) Representation is not the best
way to exercise power.

(D) None of the above,
P/A/MI/2013
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Directions (Q. Nos. 21-25) : To see the
universal and all-pervading spirit of truth
face to face one must be able to love the
meanest of creation as oneself, And a man
who aspires after that cannot afford to keep
- out of any field of life. That is why my
devotion to truth has drawn me into the
field of politics; and I can say without the

slightest hesitation, and yet in all humility,
.,_-——'—_'__'——. "

that those who say that religion has nothing
fo do_with_politics ‘do ot kmow what
religion means, ,

Identification with everything that
lives is impossible without self-
purification; without self-purification the
observance of the law of ahimsa must
remain an empty dream; God can never be
realized by one who is not pure of heart.
Self-purification therefore must mean

purification in all walks of life. Self-
ly_@ﬁl@is__imﬂuﬂq

21. Which of the following cannot be
concluded from the passage?
(A) Purity of heart leads to God.
(B) Self-purification is an infectious

process. .

(C) With ahimsa there is no self-
purification.

(D) Self-purification comes after
severe penance.

22. Which of the following is not true

according to the passage ?

(A) In order to realize Truth one
must love all creatures.

(B) Love is the basic aspiration of
all humans.

(C) A seeker of Truth seeks it in
politics also.

(D) None of the above.

SET-D

23. According to the excerpt which of
the following is correct ?

(A) Politics and religion are not
separate.

(B) Politics is a noble profession.

(C) Politics is aboﬁt po;uer. -

(D) None of the above.

24. Which statement can be concluded
from the above excerpt ?

(A) Truth and Love are disjointed.

(B) Truth and Love are ldeeply
connected.

(C) Truth is the search for univerfsal
spirit.

(D) Humans are mean creatures. .

25. Which of the following conclusions
can be drawn from what is stated in
the passage ?

(i) To realize God and Truth one

g must be able to see oneself even

in the tiniest of living beings.

(ii) God resides.in the pure hearted.

(A) Only conclusion (i) can be
drawn.

(B) Only conclusion (ii) can be
drawn.
(©) Both conclusions (i) and (ii) can
be drawn.
(D) Neither conclusion (i) nor (ii)
can be drawn.
P/A//2013
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the following words below a context is
provided. From the given alternatives pick
the word or phrase that is closest in
meaning in the given context.

26.

27.

28.

29.

(©) a

Yarn : He spun an elaborate yarn to
hide his shortcomings, '

(A) story '

(B) cotton thread

(C) strong cloth -

(D) none of the above

Robust : The athlete has a robust
constitution.

(A) forceful

(B) healthy .

(C) determined

(D) strong

Proletariat* : Dictatorship of the

proletariat is a phase in social
evolution.

(A) the capitalist

(B) the working class
(C) the trade unions
(D) none of the above

Feminism : Feminism is a movement

for a particular type of social change.

(A) a theory opposing women’s
rights. -

(B) a theory that explains difference
between men and women,

theory about poverty
alleviation amongst women.

(D) a theory supporting women’s

“ rights. :

SET-D
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30.

31

32.

Which of the following staternents is

not _tme in the context of

communication ? .

(A) Communication is optional for
society.

(B) Communication relates to long
standing traditions of society. .

(C) Communication and socialization
are one and the same thing,

(D) Maximum development in the

field of communication took
place in the 21* Century. .

Communication is a continuous
dynamic process. It establishes co-
ordination amongst which of the
following ?

(A) News aﬁd source.

(B) Sender, receiver and message.

(C) Sender and receiver.

(D) Source, news and medium.

Which of the following cannot be a

possible outcome of interpersonal

communication 7

(A) Listener fully agrees with the
message.

(B) The listener neither agrees nor
disagrees with the message.

(C) The listener partially agrees to
the message.

(D) The listener does not understand
the message.

P/A/II/2013
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Choose one of the following 6pti0ns
regarding objectives of
advertisement.

(i) " To revive peoples’ memory.

(ii) To enlighten about the product.

(1it) To establish a pro]:luct ;:)n“the
national stage.

(iv) To create new market for the
product.

(A) Only (i)

(B) Only (iv)

(C) None of the above oﬁjectives.

(D} All of the above objectives.

Choose the option indicating the
correct sequence,

{i) The house was across the road.
(1) He recognized the gardc_n. '
(iii} He knew where he was.

(iv) He was in Allahabad, of course.
(v) On Lowther road. ‘
(A) (1), (i), (i), (iv), (v)

(B) (), (i), av), (v), ()

(C) (), (i1), (v), (iv), ()

D) @, (i), (v), (iv), (i)

Which of the following is not a
barrier of communication ?

(A) Feedback
(B) Halo effect
(C) Noise -
(D) Dogmatism

SET-D
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36.

37.

Barriers of communication include

L. Filtering information

II. Information overload

III. Defensiveness

Iv. Inte‘grity'of purpose

Choose the correct code from the
following :

(A) IL Il and IV only

(B) I, I and IV only

(C) 1, 1I and III only

(D) All of the above

Which of the following is not a part
of the message in communication ?

(A) Posture
(B) Gesture
(C) Symbols
(D) Active listening

Monopoly is characterized by an
absenﬂ%uﬁpn. The ABC
Company realizes that its operations
are in competitive iﬁdustf‘ie;.m

Which of the following conclusions
may be inferred from the above
statement ?

(A) The ABC Company’s market is
monopolistic.

(B) Monopoly is defined as one
seller in the market.

(C) The ABC Company is a public
company.

(D) The ABC Company is loss
making.

PIAMI/2013
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39. At a rally in Patna candidate A
declared : “Nearly everyone at the
rally is behind me. It looks like I will

L, |}
-

win

Which of the following statements, if
true, best supports the conclusion 7

(A) A’s opponehts were present in
the rally.

(B) A was never defeated in an
election.

(C) The rally was attended by
almost all the residents of A’s
constituency.

(D) A was supported by the local
gram pradhan.

Ramesh is a very bad driver. He

made at least six _traffic violations
during the past_year. Which of the

following can be said true about the
above claim ?

(A) The argument is built upon an
assumption that is not stated but
rather is conpe_aled.

(B) The argument lacks material
evidence. B ’

(C) The argument is vague.
(D) The argument is totally illogical.
)

41. Find the missing number.
2,12,136, 7,150
(A) T2
(B) 80
(C) 54

(D) 84
SET-D
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43.

42. Immigration is related to Armival in
the same way as Emigration is

related to .
(A) Emigrant (B) Native
(C) Leaving (D) Alien

Pointing to a photograph a woman
says, “This man’s son’s sister is my
mother-in-law”. How is the woman’s
husband related to the man in the
photograph 2. : B
(A) Grandson (B) Son
(C) Son-in-law (D) Nephew
44. Ram told Shyam, *“Yesterday I
- defeated the only brother of the
daughter of my gran‘qrmot‘her”.

Whom did Ram defeat ?
(A) Son ~ (B) Father
(C) Brother {D) Father-in-law

45. Different letters stands for various

symbols as indicated below :

" R : Addition S : Subtraction
T : Multiplication U : Division
V : Equal to W : Greater than
X : Less than
Which of the following alternative is
wrong with reference to above letter

" scheme,? _
() 16k2SayeRs to+2-4= 6F8
(B) 20R4U4S2W3 2o+t 2 U4 —2 7
(C) 15USW3R2T3 1573573+ -~
(D) 30R6U2WATS 304 6+ 27 1%

The missing term in the following
alphabetical series :

AYBZC, DWEXF, GUHVI, JSKTL,
18

(A) MQORN  «B) MQNRO
(C) NQMOR (D) QMONR

In the following sequence some

letters are missing, which are given

in that order as one of the four

alternatives under it. The correct
-

47.

alternative is
a_bc_a_bcda_ccd_bed_

(A) acbdbb (B) adbcad
(C) adbbad (D) abddbd

P/AMI/2013
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Directions Study the following
information carefully and answer the
questions (48-50) given below :

All roads of a city are either perpendicular
or parallel to one another, The roads are all
straight. Roads A, B, C, D and E are

parallel to one another. Roads G, H, 1, J, K,

L and M are parallel to one another.

() Road A is 1 km East of road B.
(i) Road B is % km West of road C.
(iif) Road D is | km West of road E.
(iv) Road G is ¥2 km South of road H.
(v) Road1is 1 km North of road J.
(vi) Road K is % km North of road L.
(vii) Road K is 1 km South of road M.

48, Which of the following is necessarily

true ?

(A) E and B intersect.

(B) Dis 2 kms West of B.

(C) Dis at least 2 kms West of A.
(D) M is 1.5 kms North of L.

49. If E is between B and C, then which

of the following is false ?
(A) Dis 2 kms West of A.
(B) Cis less than 1.5 kms from D.

(C) Distance from E to B added to
distance of E to C is 2 km.

(D) E is less than 1 km from A.

50. If road E is between B and C, then
distance between A and D is

(A) ¥2km

(B) 1km

(C) 1.5kms
(D) 1.5 to 2 kms.

SET-D
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S1.

S2.

Here, two quantities are given in

column A and column B. You have

to compare these two quantities and
mark. )

(A) If the quantity in column A is
always greater than the quantity
in column B,

(B) If the quantity in column B is
always greater than the quantity
in column A.

(C) If the quantities are always
equal.

(D) If the comparison cannot be
determined from the " given

information.
Column A Column B
No. of No. of sides of a

diagonals of | Polygon

a Polygon

Seven friends A, B, C,D,E,Fand G
are sitting in a row facing South,
such that

I.  Ais to the immediate left of G.
I. G is fourth to the left of C.

L
V.

D is between B and F,

C, who is third to the right of B,
is at one of the ends.

Which of the following is the correct
position of E 7

(A) Immediate right of A.
(B) Immediate left of F.
(C) Between F and G.

(D) Fourth to the left of D.

P/AMI/2013
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Directions (Q. Nos. 53-55) :

following information carefully and answer

the questions given below it :

(i) A,B, C, D, E F and G are seven
members of the family.

(i) Six of them have a different

~ profession of Accountant, Lawyer,

Teacher, Manager, Doctor Engmeer
and one is a student.

(iii) There are two married couples in the
family. '

(iv) A and F’s professions are Accountant
and Doctor respectively. '

(v) D is the father of B and the
grandfather of G and is an Engineer.

(vi) No lady is either an Engincer or a
Lawyer— -

(vii) G, who is a student is the grandson of E.

53, How Cisrelatedto G ?
(A) Inadequate data (B) Aunt
(C) Sister (D) Mother

-

54. How many male members are there
in the family ?
(A) 4
B) 5
(©) 3
(D) Inadequate data

55, Which of the following is a married

couple ?
(A) BE (B) DE
(C) BD (D) AC

§6. How many triangles are there in the
following figure ?

(A) 26 (B) 23

(C) 28 (D) None of these
SET-D

Study the'_

Dlrectlons (Q Nos. 57-61) Read the

directions given below and answer the

questions that follow :

Direction : P, Q. R, §, T, U and V are

seven  persons who travg.l_ to office

everyday in a particular train which stops

at. five_stations ~ Rewa, Satma, Katni,,

Jabalpur and Itarsi .respectively affer it

leaves the base station.

(i) Three among them get in the train at
the base station.

(i) S gets down at station next to the

- station at ' which U gets down.

(iii) Q does not get down either with P or T.

(iv) V alone gets in at Katni and gets
down with R after passing one
station.

v) P travels only two consecutive
stations and gets down at Itarsi.

(vi) None of them gets in at Satna.

(vii)” R gets in with U but does not get in
with eltherQorS

(viii) T gets in with two others and gets
down alone after S,

(ix) Q and S work in the same office and

_ they get down together at Katni.
(x) ''None of them gets down at Rewa.

57." “After how many stations does T get down ?
(A) One (B) Two
{C) Four (D) None of these

58. T gets down how many stations after
U gets down ?
(A) Next station
(C) Two

(B) Three
(D) None of these

59, At which station does T get down ?
(A) Satna (B) Katni
(C) Jabalpur (D) Data inadequate

60. At which station do R and U getin ?
(A) Rewa * (B) Satna
“(C) Katni (D) Datainadequate

61. At which station do Q and S get in ?
(A) Rewa (B) Base station
(C) Katni (D) Data inadequate
P/A/IL/2013
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Directions : From questions number 62 {§65)°-r
there is a statement followed by two
assumptions numbered I and II. After
considering the statement and given
assumptions you have to decide which
assumption is implicit in the statement ?

(A) If only assumption 1 is implicit.

(B) If only assumption II is implicit.

(C) If neither assumption 1 nor
assumption II is implicit.

(D) If both assumptions I and II are
implicit. .

62. Statement : The Municipal
Corporation has informed the people
that to avoid water bome diseases
they should boil water before
drinking,

Assumption 1 : People will still
drink water without boiling.
Assumption II : People generally
overlook such advisories issued by
the Municipal Corporation.

63. Statement : A nationalized bank
gave an advertisement in a national
daily that eligible candidates may
apply for 120 posts of Chartered
Accountant.

Assumption I : Eligible Chartered
Accountants will reply to this
advertisement. -
Assumption II : There will be
enough eligible Chartered Accountants’
who want to work in the nationalized
bank. - ' '

64. Statement : In order to attract people
the city transport corporation_ has
inﬁ‘odﬁc;d;;air,gondiﬁoned buses on
various routes for those who go to their
work place in own vehicles. This will
help in reducing traffic on roads, 4
Assumption I : Most of the people
will prefer to go to their work places
in their own vehicles.,

Assumption 11 : Many people will
now choose the options of these
buses to travel to their work place.

SET-D

adopted on-line method  of
conducting their examinations.
Assumption I : It is possible that
candidates from all parts of the
country are adapt at computers. )
Assumption II : The on-line method
of examination helps to recruit more
qualified people,

Directions : In Question Nos. 66 to 70
below there is one statement followed by
two arguments I and II. You have to decide
which argument is ‘strong’ and which one
is ‘weak’, based on your decision you have
to choose one of the following options :

(A)
(B)
©
)

66.

67.

68.

Argument [ is strong.

Argument II is strong.

Both arguments I and II are strong.
Neither argument I nor Il is strong.

Statement : Should the government
ban all types of protests and sit-ins. ?
Argument I : No, the government
should not infringe on the
Fundamental Rights of the citizens.
Argument II : Yes, this is the only
way in which maximum productivity
can be ensured.

Statement : Should school education
be made mandatory in India through
legislation ?

Argument I : Yes, this is the only
way by which the whole country can

 be made educated.

Argument II : No, we do not have
the basic resources to make the
whole country educated.

Statement : Should India acquire the
latest Nuclear weapons ?

Argument I : Yes, India’s enemies
are continuously improving their
armaments.

Argument II : No, this will be
counter to our policy of global peace.

P/AMI/2013



69.

70.

71.

72.

73.
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Statement : Should animals be killed
for the sake of laboratory testing 7
Argument I : Yes, they are available
in plenty.

Argument II : No, we have always
supported ahimsa.

Statement : Should mutual funds be
brought under government control 7
Argument I : Yes, this is the only
way in which the interest of the
investor can be ensured. '
Argument II : No, the government
will not be able to handle it. -

In how many ways can four children
be made to stand in a line such that
two of them M and N are always
together ?
(A) 6
(B) 12
(C) 18
D) 24

In a meeting, the map of a village
was placed in such a manner that
South-East becomes North, North-
East becomes West, and so on. What -
will South become ?

(A) North . R
(B) North-East N
(C) North-West '

(D) West . e\

A cuboid has six sides of different
colours. The red side is opposite to
black. The blue side is adjacent to
white. The brown side is adjacent to
blue. The red side is face down.
Which one of following would be
opposite to brown ?

(A) Red '

(B) Black \)/
(& White
(D) Blue
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74.

75.

76.

How many times an hour hand and a
minute hand of a clock are at right

" angles during their motion from 1.00

p-m. to 10. p.m. ?
(A) 9
(B) 16
(C) 18
(D) 20

A person gets Re 1.00 for hitting the
target and Re 1,00 is taken from him
if he misses the target. After having
100 rounds, at the end of the game he

~ has ¥ 30.00. How many times did he

miss the target ?
(A) 25
(B) 35
{C) 40
D) 45

7

You are about to enter a mall when
you hear gun shots, at the same time
you observe three persons rushing
out_of the mall. They board a white
car and quickly drive_off. You note
the car’s vehicle number.,

On entering the mall you find
that a person has been robbed and
shot at. The person is wounded but
not critically injured. In such a
situation you would
(A) Carry on with your work as you

see other attending to the victim

and” also that the incident has
been captured on CCTV,

(B) Offer help and take the victim to
a hospital,

(C) Call the police informing them
of the incident and giving them
the vehicle number you had
noted and also call for an
ambulance. '

(D) Inform the management/security
personnel of the incident and ask
them to take immediate action,
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77. You get to know about an argumdifp”/m°p

between two workers of your office.
From a third worker you get to know

. that differences of opinion between

78.

79,

these two workers is affecting the

work of your office. What are you

going to do ?

(A) Talk to both workers to know
about the issue. '

(B) You will try to go to the battom
of the problem by talking to all
the workers.

(C) Warn both the workers about
strict action in future.

(D) Ask the two workers to refrain
from such arguments so that
office atmosphere is not vitiated.

You are an officer in a Government

Department. It comes to your notice

that there is an office bill for long

distance call particularly by one

worker. What will you do ?

(A) Order the worker to pay the bill.

(B) Warn the worker not to do this
again.

(C) Get the office phone to restrict
long distance calls.

(P) Ask the worker, the reason for
such calls.

You are an officer in a Rural District.
You have the responsibility for Rural
Development. You observe that your
office and field staff is not working
efficiently. What are you going to

“do ?

(A) Scold your office and field staff.

(BY You will motivate them and
encourage them to work hard.

(C) You will let things drift.

(D) Give them material incentives.

SET-D

25

81.

82.

FSeXBF.c°™ ou are a Government Officer. You

find that there is a complaint against
your subordinate. What will you do 7

(A) Suspend him.

(B) Institute an enquiry
context of the complaint.

(C) Punish him.
(D) Ignore the complaint.

in the

Your bess has asked you for a job for
which you have to go out of the city.
At the same. time your child is
suddenly fall ill. What are you going
to do in such a situation ?

(A) Go home taking leave.

(B) Tell your boss it is not possible
to leave your house at this time.

(C) Be ready to go out of the city.

{D) Apprise your'. boss of the
situation and then finalize your
programime.

You work in an automobile
company. You have discovered and
created an efficient technique.
During the meeting your boss says
the technique was discovered by his
son. What are you going to do ?

(A) You will leave your job.

(B) Shout and tell everybody that
you discovered the technigue.

(C) Call your co-workers and tell
them that you have discovered
the technique.

(D) You will ask your boss the
reason for his lie and make plans
for such contingency in future.
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83. You are the officer-in-charge of a

__pblling station. During voting a
" group of Maoists come and try to
disrupt proceedings by terrorizing the
voters and firing in the air. What will
you do 7

{A) Immediately stop voting.

(B) Inform police force stationed
there and ask them to ensure
safety of important documents.

(C) Ask the “police to resist the
Maoists by force.

(D) Give the Maoists whatever they
want and try to save lives.

expelled from co]lége tries to commit
self-immolation. The huge crowd is
egging him on. You reach the spot as
a police officer first. What are you
going to do ?

(A) After scolding the students and
chasing him from there,

(B) Arrest the student and provide
him services of a psychiatrist.

(C) Go to the principal of the college
along with the student.

(D) Wait for more police force to
arrive before ordering a lathi
charge..
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85.

86.

87.

The government has passed an order
making it mandatory for_ private
hospitals to treat poor patients free of
cost, As a government officer you
have received a complaint that the
poor patients are being charged as
previously by the private hospitals of
the city. What are you going to do ?

(A) You will order closure of all

such hospitals.

(B) Order to arrest of some doctors
involved.

(C) Call a meeting of managers of
such hospitals and admonish
them to comply with
government orders.

(D) Order the cancellation of
practice licence of doctors of
these hospitals.

In a particular week the mean
temperature  of  Monday to
Wednesday was 27 °C and mean
temperature of Tuesday to Thursday
was 24 °C, If the temperature on
Thursday was 2/3 of the temperature
on Monday, then the temperature on
Thursday was

(A) 9°C

(B) 20°C

(C) 18°C

(D) -None of these

The greatest possible length of a
scale that can be used to measure
exactly the following lengths of cloth;
3m,5m10cmand 12 m90 cm,is :

(A Im

(B) 3m

(C) 30cm

(D) None of the above
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